Costs and Output  
Susan owns a small shop and produces dining room sets. Table 1 presents data on her costs and various levels of output. 

a. Fill in the table. 
b. At what output level is Susan’s Average Total Cost at a minimum? 
c. At what output level do diminishing returns begin?
	Q
	TC
	TFC
	TVC
	ATC
	AVC
	AFC
	MC

	1
	100
	50.00
	
	
	
	
	

	2
	140
	
	
	
	
	
	

	3
	177
	
	
	
	
	
	

	4
	215
	
	
	
	
	
	

	5
	265
	
	
	
	
	
	

	7
	400
	
	
	
	
	
	

	10
	700
	
	
	
	
	
	

	12
	1000
	
	
	
	
	
	


